Missing Addends 100

Name: Class:

Fill in the missing addends

100 = 55 +Q+ 17
100 = 49 + 26 +[j
100 =C]+ 18 + 49 100=C]+ 26 + 53
100 = 45 +[j+ 33 100 = 26 +[j+ 38
100=28+19+[j 100=59+16+C]
100 =D+ 18 + 26 100 =C]+ 29 + 47
100 = 63 +D+ 25 100 = 58 +O+ 20
100=45+24+[: 1oo=18+44+[:
1oo=37+25+[: 100=38+19+[:
100 =C]+ 26 + 21 100 =D+ 37 + 25
100 = 35 +C]+ 30 100 = 51 +C]+ 35
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Answers

Fill in the missing addends

= 55 +(28])+ 17
= 49 + 26 +(25]
:+ 18 + 49
= 45 ++ 33
= 28 + 19 + (53] 100 =
=(56])+ 18 + 26
= 63 +(12)+ 25
— 45 + 24 + 100 =
= 37 + 25 +(38] 100 =
=(53)+ 26 + 21
= 35 +(35)+ 30
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1oo=+ 26 + 53
100 = 26 ++ 38

100 =+ 29 + 47

100 =

100 =+ 37 + 25

100 =

www.mathinenglish.com



